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(12 marks)

QUESTION 1
a) Solve for x and éraph on separate number lines: 6
iy -3<2x+1<15
H) x*=5x20
iii) |x—2|<4
’ b) Solve for x: 4
i) 3x*-10x+7=0
i) xX*-9x=4
c) Solve simultaneously: 2
x+y=6
Tx—2y=51
QUESTION 2 Start a new page (12 Marks)
a) i) Sketch the graph y= \/9——; .
ii) On the same set of axes, sketch the graph of y=2
iii) By solving simultaneously, show that the graphs intersect at x = +J5
9-x22 ‘

iv) Hence solve the inequality

b) Shade the region bounded by
y>-2

y<6+)c—x2




QUESTION 3 Start a new page (12 Marks)

2
is an even function

a) Prove that f(x)= T2

b) Sketch the parabola y=x" —12x+ 20

showing the x- and y-intercepts, and the co-ordinates of the vertex.

i t
c) Draw up a table of values with —1 € x <4 for the function
f(x)=lx—2]+x

Graph the function on the number plane.

d) For this graph of y=f (x), state the values of x for which f(x) > 0

QUESTION 4 = Startanew page

a) What is the natural domain of the function f(x)=

6
X —4x=-12

b) F(x) = 9x + x* Find the value of

c)

d

€)

n o F(-2)

i) Fi(h+2)

The curve f(x)=x* ~2x+a passes through the point (5,3).
Find the value of a.

i) Sketch the curve (x—4)* +y* =16 , showing any intercepts

ii)Is (x—4)* +y* =16 afunction? N7

i) Sketch the curve f(x)=2% , showing any intercepts
i) What is the domain of f(x)=2%

i) What is the range of f(x)=2%

End of Test

(14 Marks)
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